gty « WEHHEE

1
s |wEsm | wRmE SR EERE [l
]
HCH 6 GB/T 307.1 PO% | #EiEBSI(CN/CO) | ZZ(WE L ER) | GCr15 | SUJ2
@ =xE
s, ; [IEN
Wz
| (O] _
al o al — -—3
N N 5
! LIS \
NEinE: $5—0/H
BE FERT(mm) EAELE R BREEIE (rpm) REBRRRYT 55%
R r 5 - N da da Da r

7 d D B | (min) | o) | U | pemB | R | (i) | (maw) | (max) | (min) | B
604ZZ-HCH 4 12 4 0.97 0.36 [ 47000 [ 55000 5.4 6.6 10.6 4
624ZZ-HCH 13 0.2 1.31 0.49 | 42000 | 50000 5.6 6.2 11.4 0.2 4.8
605ZZ-HCH 14 5 1.33 0.51 [ 41000 [ 51000 6.6 7.4 12.4 3.5
625ZZ-HCH 16 - 1.76 0.68 [ 37000 | 44000 _ 7.6 14 B 5
635ZZ-HCH 5 19 6 ) 2.34 0.95 [ 34000 [ 42000 9.5 17 ) 11
685ZZ-HCH 1 5 0.15 0.715 [ 0.282 | 46000 | 54000 6.2 6.2 9.9 0.15 2.4
695ZZ-HCH 13 4 0.2 1.08 0.43 | 44000 | 51000 6.6 6.6 11.4 0.2 5.3
606ZZ-HCH 17 5 - 2.19 0.87 [ 38000 [ 45000 A 8.6 15 0 7
626ZZ-HCH 6 19 ' 2.34 0.95 [ 34000 | 41000 9.5 17 ' 8
686ZZ-HCH 13 - 0.15 1.08 044 |, 000 50000 7.4 7.4 1.7 0.15 2.7
696ZZ-HCH 15 1.35 0.53 46000 7.6 7.6 13.4 8.4
607ZZ-HCH 19 6 0.3 2.34 0.95 [ 35000 | 42000 5 10.4 17 0.3 7
627ZZ-HCH 7 22 7 3.45 1.4 32000 | 37000 12.2 20 13
687ZZ-HCH 14 - 0.15 117 0.51 | 39000 [ 49000 8.5 8.5 12.7 0.15 3
697ZZ-HCH 17 1.61 0.715 [ 37000 [ 43000 9 9 15 11.4
608ZZ-HCH 22 7 " 3.45 1.4 32000 | 38000 12.2 10 0 11.5
628ZZ-HCH 24 8 ’ 4 1.66 | 31000 | 36000 | 10 12.1 17 : 17
638ZZ-HCH 8 28 9 3.54 1.99 | 28000 [ 32000 10 26 29
688ZZ-HCH 16 5 0.2 1.33 059 | .. 000 | 45000 9.6 9.6 14.4 0.2 4
698ZZ-HCH 19 6 1.99 0.87 42000 | 10 10 16.5 16.1
609ZZ-HCH 24 7 0.3 3.9 1.66 | 31000 | 37000 | 11 13.1 12 0.3 14.7
629ZZ-HCH n 26 8 4.75 1.96 | 27000 | 32000 | 115 11.5 14 19
689ZZ-HCH 17 5 0.2 1.72 0.82 | 35000 | 42000 | 10.7 10.7 15.2 0.2 4
699ZZ-HCH 20 6 A, 2.48 1.09 | 34000 [ 40000 | 11 11.6 18 . 18
6000ZZ-HCH 26 8 J 4.75 1.96 | 30000 | 36000 | 12 13.5 24.1 : 19
6200ZZ-HCH 30 9 - 5.4 2.39 [ 25000 [ 30000 | 12.7 16 26 G 30
6300ZZ-HCH 10 35 11 ' 7.65 3.47 [ 23000 | 27000 [ 14 17 31 : 54
6800ZZ-HCH 19 5 1.83 0.925 | 33000 | 40000 | , 14 17.8 5
6900ZZ-HCH 22 6 0.3 2.7 1.27 | 32000 | 38000 13 20 0.3 19.8
6001ZZ-HCH 28 8 5.4 2.36 | 29000 | 33000 [ 14 16 26 20.6
6201ZZ-HCH 32 10 0.6 7.28 3.1 23000 | 28000 | 14.7 17 28 0.6 36
6301ZZ-HCH 12 37 12 1 7.69 35 21000 | 25000 | 16.7 18.5 32 1 59
6801Z2Z-HCH 21 5 1.92 1.04 | 32000 | 38000 | , 14.5 19 6
6901ZZ-HCH 24 6 0.3 2.89 1.46 | 31000 | 36000 15 22 0.3 24.2
6002ZZ-HCH 32 9 5.85 2.85 | 25000 | 29000 [ 17 19 30 30
6202ZZ-HCH 35 11 0.6 7.64 3.72 [ 20000 [ 25000 | 17.9 20 31 0.6 46
6302ZZ-HCH 15 42 13 1 11.45 5.43 | 19000 | 22000 | 19.8 23 37 1 82
6802ZZ-HCH 24 5 2.08 1.26 | 28000 | 32000 | . e 22 7
6902ZZ-HCH 28 7 0.3 4.36 2.24 [ 27000 [ 31000 ) 26 0.3 35.2
6003ZZ-HCH 35 10 6 3.24 [ 23000 | 26000 [ 19 21.5 33 39
6203ZZ-HCH 40 12 0.6 9.57 4.79 | 18000 | 22000 | 20 23.5 36 0.6 65
6303ZZ-HCH 17 47 14 1 13.58 6.58 | 16000 | 19000 | 22 25.5 42 1 113
68032Z-HCH 26 5 2.81 1.72 30000 19.5 24 8
6903ZZ-HCH 30 7 & 4.65 2.58 | 25990 55000 | '° 20 28 s 39.6
6004ZZ-HCH 42 12 0.6 9.38 5.03 [ 18000 | 21000 | 24 26 38 0.6 69
6204ZZ-HCH 47 14 1 12.84 6.65 | 16000 | 18000 | 24.6 28 42 1 107
6304ZZ-HCH 20 52 15 1.1 15.94 7.88 | 14000 | 17500 | 25.8 28.5 45.5 1.1 142
6804ZZ-HCH 32 7 - 4.01 247 | 23000 | 28000 | ,, 225 30 . 15
6904ZZ-HCH 37 9 : 6.37 3.68 | 20000 | 24000 24 35 : 79.2
6005ZZ-HCH 47 12 0.6 10.07 5.85 | 16000 | 19000 | 29 30.5 43 0.6 80
6205ZZ-HCH 52 15 1 14.02 7.88 | 13000 | 16000 | 30 32 47 1 125
6305ZZ-HCH 25 62 17 1.1 22.41 11.51 | 12000 | 14000 [ 31 36 B515 1.1 226
6805ZZ-HCH 37 7 > 4.31 2.95 [ 18000 | 23000 | . 28 35 03 20
6905ZZ-HCH 42 9 ' 7.01 4.55 | 17000 | 21000 29 40 : 92.4
6006ZZ-HCH 55 13 ) 13.23 8.3 13000 | 15000 | .. 37 50 ] 114
6206ZZ-HCH 62 16 19.8 12.8 12000 | 14000 39 57 201
6306ZZ-HCH 30 72 19 1.1 27.03 | 15.26 | 10000 | 12000 | 36.5 43 65.5 1.1 349
6806ZZ-HCH 42 7 4.7 3.62 19000 33 40 25
6906ZZ-HCH 47 9 03 7.24 5.01 | 18900 000 | 32 34 45 03 105.6




B FERT(mm) EAGERT HRBRAEEE(rpm) REHERRT EE

o r z - . 4 da da Da r (9)

(e d D B (min) Clr((:‘}]) C?(r'(\l%) SRR | (min) | (max) | (max) | (min) %g%
6007ZZ-HCH 62 14 1 15.98 10.28 12000 14000 40 42 57 1 148
6207ZZ-HCH 35 72 17 1.1 27.06 15.33 10000 | 12000 41 45 65.5 1.1 287
6307ZZ-HCH 80 21 1.5 33.39 19.29 8800 10000 42.9 47 72 1.5 460
6807ZZ-HCH 47 7 0.3 4.9 4.05 13000 17000 37 38 45 0.3 29
6008ZZ-HCH 68 15 1 16.78 11.54 10000 12000 45 47.5 63 1 189
6208ZZ-HCH 40 80 18 1.1 29.52 18.14 8800 10000 46 51 73.5 1.1 365
6308ZZ-HCH 90 23 1.5 40.76 24.01 7800 9200 48 54 82 1.5 645
6009ZZ-HCH 75 16 1 19.89 13.99 9200 11000 50 5815 70 1 236
6209ZZ-HCH 45 85 19 1.1 29.36 19.19 7800 9200 51 55.5 78.5 11 420
6309ZZ-HCH 100 25 1.5 48.89 | 29.56 7000 8200 58] 61.5 92 1.5 842
6010ZZ-HCH 80 16 1 20.77 15.38 8400 9800 55 58.5 75 1 254
6210ZZ-HCH 50 90 20 19 35.07 23.22 7100 8300 56 60 83.5 1.1 466
6310ZZ-HCH 110 27 2 57.54 35.34 6400 7500 59 68.5 101 2 1086
6011ZZ-HCH 90 18 1.1 26.85 19.57 7700 9000 61.5 64.2 83.5 1.1 366
6211ZZ-HCH 55 100 21 1.5 39.07 26.54 6400 7600 62 67 92 1.5 606
6311ZZ-HCH 120 29 2 66.91 41.89 5800 6800 64 74 111 2 1350
6012ZZ-HCH 95 18 1.1 28.02 21.51 7100 8300 66.5 69.1 88.5 1.1 389
6212ZZ-HCH 60 110 22 1.5 47.76 32.92 6000 7300 68 75 102 1.5 793
6312ZZ-HCH 130 31 2.1 81.91 52.14 5400 6300 71 80.5 119 2.1 1700
6013ZZ-HCH 100 18 1.1 32.04 24.92 6700 8000 71.5 74 93.5 1.1 440
6213ZZ-HCH 65 120 23 1.5 57.19 40.15 5500 7000 73 80.5 112 1.5 990
6313ZZ-HCH 140 33 2.1 92.74 59.87 5000 6000 76 86 129 2.1 2100
6014ZZ-HCH 110 20 1.1 36.77 29.08 6300 7100 76.5 80.5 103.5 1.1 600
6214ZZ-HCH 70 125 24 1.5 56.38 | 41.87 5100 6100 78 85 117 1.5 1100
6314ZZ-HCH 150 35 2.1 104.13 68.04 4500 5300 81 92.5 139 2.1 2500
6015ZZ-HCH 115 20 1.1 38.24 31.79 5800 7000 81.5 85.6 108.5 1.1 640
6215ZZ-HCH 75 130 25 1.5 60.68 45.47 4800 5600 83 90.5 122 1.5 1200
6315ZZ-HCH 160 37 21 113.42 | 76.97 4300 5000 86 99 149 21 3000
6016ZZ-HCH 80 125 22 1.1 42.33 35.64 5500 6500 86.5 91.5 118.5 1.1 854
6216ZZ-HCH 140 26 2 65.91 50.11 4500 5300 89 95.5 131 2 1400
6017ZZ-HCH 85 130 22 1.1 52.8 44.49 5300 6300 91.5 97 123.5 1.1 890
6018ZZ-HCH 90 140 24 1.5 52.34 | 45.08 5000 6000 98 102 132 1.5 1020

BE FERY(mm) 28 5}
@ = ) a * #& [1-100 101~ =
©0072Z-FCR 35 o s [100%|SiEM !

-
BRETRITE 6007Z2Z-HCH RN GT)




	页 1
	页 2

